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Spring 2020 Math 251

Week in Review 6
courtesy: Amy Austin
(covering sections 16.1-16.3)

Definition: A vector field in two dimension is a function F that assigns to each point (z,y) in
D C IR? a two dimensional vector, F(z,y). In two dimension, the vector field lies entirely in the xy

plane. A few vector fields in IR?:

Flz,y)=-yite] Fx,w)= (-ny, X ) e

SRR (2,2)
Hets Fo)-(3,0)

Definition: A vector field in three dimension is a function F that assigns to each point (x,y, z) in
D c IR? a three dimensional vector, F(x,y, z).

In three dimension, the vector field is in space.

A vector field in IR?:
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In order to match F with it’s vector field, choose a several points, (z,y), in each quadrant, and look
at the direction of F(z,y). Often times, it is a process of elimination.
1. Which of the following is the vector field for F(z,y) = (2z, —7)7

a) b.)

>

AN Fl,2) (4 g
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Definition: If f is defined on a smooth curve C defined as r(t) = (x(¢), y(¢)), then the line integral # J
of f along C is £ (x,W) = Su(?ac@ (Ty4) Q\]&W‘Ci ¢

at T
b 2 2
]@ s~ f(f(x(t),y(t))w Mm

' GEA
S u

da- QmﬂﬁngﬂwAdikmnkal

()= <jx(t) L§(£i>

Oeteh

In order to find a line integral along a curce C', we must first parameteterize the curve. Sometimes,
the parameterization will be given explicitly, other times you must parameterize the curve.
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X

U>
2. Evaluate [ (2x + y)ds, where C is defined asr(t) = 2+¢,3—1¢), 0 <t < 1.
—ﬁz/\_—\/ -

b Ceed= (0,0
| stnds= | Hadltwldt e

e

:S\@(Q*{B*&t M
W ol dt

oo )

:Qgé@/e\% .
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3. Set up but do not evaluate /(293 + x%y)ds, where C' is the arc of the curve from (1,1) to
c

(2,4) using two different parameterizations.

Yy
R

\ X

. = (?/H\
Pacamelerize A= X \j '

O ey A=+ u= {a
— | £
L) t}] -

= L\ 9t> 50 )f)(t\\iw

2
Jpreroyds . | @t+£ﬂf> \x uks db
rS  —~ 2 Nu
Crien 1€y o
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4. Evaluate ,/(3:2 + y) ds where C' consists of the line segment from the point (1,4) to (3, —1).
c

To @a(omeﬁre(\%ﬂ Qa \\r\(’/

Sé{aﬂfbd@ \ B /;@ onding at
[ (o) « 45t ) G ab

@B\SKH U4+ quJr 4-5¢t > g @S&\E - 1’5\6“:
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5. Evaluate / (x + y)ds, where C is the top half of the circle 2? 4+ y* = 4, oriented counterclockwise.
c _
2 >

2
To Pa(amOre(\%C Q (‘,\rdﬁ, 7(1“3:(

COND) A= (0SB, B= (5
C\W = (5B, WU (SO

1 r gs”& = Q0SB, We 2 SO

o B=0: (3) O\
51%,’ <OJ gw
o: T (2,0)

W9>; {2058, 95\”9>J b o™

Clg)e (~2swd, 305 B

e ol oo w0y = A%

(- 2 \ e T

Lo (e senm) ade.
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~
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6. Set up but do not evaluate / (2 + x%y)ds, where C' is the arc of the curve x = y? from (1, —1) to
c
,2) and then along the line segment from the point (4, 2) to the point (3, 7).
4,2 d tl long the li o) f he poi 4,2 he poi 3.7

o Wt seq et Fom (423 4o (3
E
[ (ae 7)ds= oo dss § Br's)ds
C N

Coo A= \ﬁ g/(om ( \\ >(Z) (’kt’;\

Dara mekel 1 € 7(@ 9ot X= Jc ek d

a
o=k, e

N / \ 3
S PR rrayy

Cast  $a(Ed= ?o+ v =4 3>+ L -\, g>) 0= <)
O = L4-t, 2 SJC> ()\Lk\$<")5> \C\w\:@
g +7( UX\CDS @“’JC“E\ ‘/\Jc* pltfg 3{,(‘/\ ‘E><Q+St>/((0 Jde

_/_’_,—____,—
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Definition: Let C be a smooth curve defined by the parametric equations x = z(t), y = y(¢) for a <
b

t < b. The line integral of f along C' with respect to z is / [z, y)de = f(f(i(t), y(t)) 2'(t) dt.
o = ASANTAL ANl G By

a

b
The line integral of f along C' with respect to y is / flz,y)dy = /(f(i(t)y(t)) y'(t) dt
C

a

7. Evaluate / ydr + r*dy, where C is decribed by r(t) = (3¢, 2t> 0<t<1.
c 7 = 3t

A = 38) W= € 1k
3 o\t 01% Je Jt

mae\@ x ) de

e ue\ |
33@&|8€>dt<3€+’%€ \o

:(6 384t>k\
¢ % ”-( 1)

8. Evaluate f :l?d.l, + de where C is the arc of the parabola x = 4 — ¢? from (-5, —3) to (3,1).
c )

-

U>;t ’)(z"l/t —gftil
d%’ At O\/X/—a):&“i

S (4- tx ;w@ Gc\dlc/ g (—8&% 3 Jc>0|£:.”

9. Evaluate /(:c +y)dz+ (y — x)dy + zdz where C: x =t y=¢> 2=, 0<¢t < 1.
c

”b(’—q‘tsdt) d\ﬁ: 3{2/%:/ OI%: ‘;ZJCJ{:

\

SD (Q% ); X% o)t\Jr (JCB/ {\ XEEAJC\% (Q} \b\éo{%
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pe fore: Saﬂ(x)tﬁ ds :J;Q(Ha\lc‘(@\dt

Line Integrals over vector fields: Suppose now are moving a particle along a curve €' through
b

a vector (force) field, F. We define the line integral of F along C to be fF_’-dr = /(F(r(t)) ' (t)dt

c

10. Find fF -dr, C: r(t)

b

&(/ FAr= Sa[<<(@>_g‘(adt
;<t)t%)ﬂqta>.<\)at)qtg dt

\
g@*ag“%é AL -

%

0<t<1, and F(z,y,2) =

11. Find the work done by the force field F(z,y) = (2%, xy) in moving an object counterclockwise around
the right half of the circle 22 + 3% = 9.

-
T o tEg )
) %

we | C.ar; m&smk 3C°5t>
C

g 2] COS% ¥ gj/Zéjc SNE e

O

(D]
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12. Suppose we are moving a particle from the point (0,0) to the point (2,4) in a force field

F(z,y) = (4% ). Find /F - dr where:
c

a.) The particle travels along the line segment from (0,0) to (2,4).
(3 904’}\ ~ unt
= — ) . Loy
(Lt\),(+3cu_~ <D)D> ‘t )
P> ()= {2E, “tt> o t &)

S Fdf/g <lloJc 9%> <94> g 39£+ S+t dL - 3'; 1_U)

b.) The pa\itlcle travels along the curve y = 22 from (0,0) to (2, 4). - 3 ;-\' 1
y&w pa(aéo 3
— = 44
\ X Het =22

jFAr/S (&€ L,k dE

A
Nt e {

= 3 )
= PQ/S‘\' ”0/3 )
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Definition: If F is a continuous vector field, we say that / F - dr is independent of path if and
o]

only iff F.dr = ] F - dr for any two paths C and Cs with the same starting and ending points.
o

In other WOl"db the hne integral is the same no matter what path you travel on as long as the

endpoints are the same.
i (S

Recall from chapter 14: The gradient of a function f(r,y) is Vf = (f.(z,y), fy(z,y)). Thus we
can now think of the gradient as being a vector field.

13. Find the gradient of f(x,y) 2 2.
- 5 O\ .
st

0f- < X*a 3ﬂ>KU}°W%eO‘

ol

yen ¥

Definition: A vector field F is called a conservative vector field if it is the gradient of some scalar
funtion f, that is there exists a function f so that F = V f. We call f the potential function.

13
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b
Recall the Fundamental Theorem of Calculus tells us that / f(z)dz = f(b) — f(a).

‘ b

F (0
£ Y- G(a)

\)

S\; C ) d

\)

Since V f = (f., f), we can think of the potential function, f, as some sort of antiderivative of V f.

Hence

/F-drz/Vf-dr

Fundamental Theorem for Line Integrals: Let C be a smooth curve given by the vector function
r(t), a <t < b. Let F be a conservative vector field. Let f be a differentiable function of two or
three variables whose gradient vector, V f. is continuous on C'. Then

S
\[ eﬂ”“oo\n‘);,\a\f\

-dr = ~dr = f(r(b)) — f(r(a 0
[Fde= [[9-dr = 1) - o) Didﬁ\
O

Note: Line integrals of conservative vectors fields are independent of path because in
a conservative vector field, the line integral is computed by only using the endpoints (not the
PATH). Therefore, if we are in a conservative vector field, the line integral along a curve C' in
that vector field will be the same no matter what curve we travel across that connects the
endpoints together. WHICH MEANS WE DON’T EVEN NEED TO PARAMETERIZE
THE CURVE!

April 20, 2020
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14. Let f(z,y) = 3z + 2%y — ya®. Evaluate /
c
r(t) = (2t,%),1 <t < 2.

§opare | ofars §{aw)- £
< (3= Lu)
/<\/ ) = ER
? } ?(((g\>_§<((\\> o />9 2

Faggy= 2%+ 177
> HL\,M\/ Q@) \3 R 124 b - Y
e ) =12

=(o) TR
= D\‘

F-dr where F = Vf and C is the curve given by

15
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Question: How do we determine if a vector field is conservative, and if so, how do we find the potential
function? The 'test for conservative’ we use depends on whether F is in IR? or IR?.

Theorem: % (x,y) = (P(z,y), Q(z,y)) ]: Pi+()j is a conservative vector field _where P and ¢ have
continuous first-order partial derivatives on a domain D, if and only if

bq _ar
[0z 3y

criteria to determine if a vector field is conservative works only for IR*

(%0
15. Is F(z,y) = (32? — 4y, 4y* — 2x) a conservative vector field? If so, find a function f so that F = V f.

Uakve!

Note: This above

no , ot conse!

2
- 3x-4u , 4rc -4
- 35
Q=dy-A% 5, AQ- -d
2

16. Is F(z.y) = (z + y,z — 2) a conservative vector field? If so, find a function f so that F =V f.

P a .
'S coose(ua\w@\

Y-\ o4 =\ \ve do Yo fnd | z

gl - <§X) Q%> — [ xxw, K- 3)

§ ey at - véww/
$0-a)dy - M’\M/*

N I G 3
052 (6, Fy)eur 320 = T
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P&
17. Given F(z,y) = (2zy?, 32%y?). Evaluate / F - dr where (' is the curve given by
- c

r(t)=(#+2t2 -3t —#2), 0 <t < 2.

) 7
F\rSJr ChQCK.) TS 7'/ QOOS@(VQ%UQ o

A >
P=bxy 90> bx Yes!
0% A
3 2D
Fund H%)% v faxyda= Y 9(4)

be =2
SD Qgﬂf ((9>:<%*8/9) (QIQ’ l/\>
¢ SNQCY 133>

_ Q(Ma\y’ M”O\\ [y=40.0)
= ?(1%)\383/ (2,0)
- (M\Q(\gz}f
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18. Let F(z.,y) = 3+ 233y2,21:&y). Evaluate /
&)

Yy
(1,1) to (4, }1) | %

1
F . dr where C' is the arc of the hyperbola y = — from
z

Jh!

7

(0015 Y- Bae s I8
ggq(atﬁ Ay 3(9/05% INCS

S gy v 3

:&\u\g\‘/b\wa/@\\
-

18
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% oo .
19. Given F(z,y) = (322 — 4y, 4y* — 2x). Evaluate / F - dr where C' is the curve given hy
C
5>\ t)y= (2 +t—-2),p<t<1. 5@\ ol
VS 8 Cor\Se(uahUQo %)V)/ /”\ ﬂ

0. Padh dependent
S v d(,\grﬁf&e§>o<L5)db

g <3 \:\ ‘/\JCH@ 3\ %(Jc“ca\ 3@
.496)9£%\>&£

()

April 20, 2020
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fv f “ £ x * *
20. Given that F = (4ze®, cos(y), 2z%¢*) is conservative and r(t) = (sin(t), ¢, cos(t)), compute / F-dr
— c

for 0 <t < =. Note: We had to tell you F is conservative since we have not yet learned the testing

N
criteria for conservativness in IR?

Lo f00 0= £ £
ﬂ P‘/;W O>’ YV(O)O) \>

Ccosdyy = S\t L\M/%\ (1 Z0)=20123
>
5 BXQQ%oQ% =dx e~ M F0,0M)=0
Q2 &
[y, 2)= 9x & + 319

= 5’0:@
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